

# Convertir Fahrenheit a Celsius (G)

Estime o convierta las temperaturas.

$-62\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$40\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-27\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-37\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-76\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$5\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-19\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-15\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$79\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-58\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-76\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$13\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-53\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$47\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-84\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$0\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-97\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$28\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-42\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$66\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$34\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$12\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$9\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-4\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-99\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$69\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$87\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$43\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$13\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-89\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$